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Answer the given questions and select the correct option and write it in the answer book.
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(Multiple Choice questions) 1x10=10
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The propounder of “Management By Objectives’ is
(A) Henri Fayol (B) Peter F. Drucker
(C) Urvik (D) William Ouchi 1

Herzberg's Hygiene factor includes
(A) Achievements (B) Working Conditions
(C) Development (D) Responsibility 1

(i) FeaTea T i St Fem w3 wpuit 3 drge Farfire = H AT, FEemm g -
(3) wfem (&) erafem
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Dividing the goods produced into different classes according to their type and
quality, is called —

(A) Branding (B) Labelling

(C) Sorting (D) Grading "

| R€ 24 D <tndies | Turn over
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“Entrepreneurship can be describe as creative and innovation response to the .
environment.” This definition is —

(A) H.N. Pathak (B) Howard Johnson

(C) Prof. Rao and Mehta (D) Franklin :

(v) o e % for =an amg @ A<
-
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(@) 18+ (8)~ 20

Minimum age for insurance agent ifl_;

(A) 21 Years 3" ®) 25 Years

(C) 18 Years ‘ (D) 22 Years 1

(vi) TITE % i Taw 1w S 2
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Social responsibility of management towards consumers is
(A) Security
(B) Balance in demand and supply
(C) Provide certified quality of product

(D) Suitable conditions of purchases
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(vii) ‘Administration Industrielle at Gen erale’ THIF Eice

() 3 (7) TR

(|) T (g) &=l e

The Writer of the book ‘Administration Industrielle at Generale” is
(A) Urvik (B) Taylor

(C) Drucker (D) Henri Fayol

(viii) ST it “w a vard feramm 3 wfadre @
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(®) wstat (z) faferam af=h
Propounder of ‘X’ and ‘Y’ theory of motivation is
(A) McGregor (B) Maslow

(C) Herzberg (D) William Ouchi

(ix) et i fadiea 2
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The characteristic of entrepreneurship is

(A) Basis of cconomic development of the nation
(B) Establishing new enterprises

(C) Result of high achievement

(D)’ Expansion of existing enterprises

(x) Humﬁﬁaﬁmsﬁiﬁ:ﬁmm%mmm%

(37) 2074 A 70 (@) 1sadA 70

(@) 25T #60 (@) saiFIsad

The age limit for pradhan Mantri Jeevan Jyoti Bima Yojna is
(A) 20 years (0 70 years (B) 18 years to 70 years

(C) 25 yearsto 60 years (D) 5 years to 18 years
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Multiple Choice Questions.
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Select the correct answer for the questions given b,ﬂ“%gd i
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Creating new varieties in place of existing varieties jg
Called

)y (B) sfﬂndardisaliun

{C} Simpliﬁcatiun [D:l
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Main sources of recruitment of worker —

(A) Three (B) Fous
(C) Two (D) Five
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Direction is required atthe  level of management.
(A) Top (B) Middle

(C) Lower (D) Every

(iv) 370 (xroree) forer <6 sk vt & —
(1) grad (A) whad
(|) dmad (z) =mad
- Maximum tenure of treasury bill is — @w
(A) Two years %GV&% o

(B) One year\.

C) Thusa:sinsss
(D) Fouryears
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There are machinery for settlement of consumer disputes —
(A) One tier (B) Two tier

(C) Four tier (D) Three tier
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Management is -

(A) Arn : (B) Science

(C) Both Ant & Science (D) Neither ATl nor Science
(vii) Favia =7 & weras 2

(3) 3 (%) ferat

() wRHT (7) farferi

Helpful in decision making is -

(A) Object (B) Policies

(C) Programme (D) Methods
(viii) 8701 Saite & ~

(%) sraram ) w

(®) Fearen Sefifrm “j (3) weum

Henri Fayol was - . "*;

(A) Accountant N (B) Mining engineer

(C) Production ::ﬁgineer (D) Manager
(ix) PR Smmaad-
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Main clements of direction are —

(A) Two (B) Three

(C') Five (D) Four

§5.-31-Bus. Studies
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Goods, services or anything of value. which is offered to the market for sale is
called -
(A)  Advertisement (B) Packaging
(C) Product (D) Personal sale
(xi) "V H (v =) F fn we wrE A g S (5 ) ST R W
& =i s s 2 — @?Q‘
a"’ \
() =z SW%
(9) Hman (2) = favsm
“A place for everything (every one) and evervthing (every one) is its place™ that -
means —
(A) Order (B) Planning
(C) Equity (D) Division of work
(xii) T wfsman % ey o R -
(3) s () =reaw
(|) Hen wTHEAl (8) wfa-ufy

The first clement of communication process -
(A) Sender (B) Media

(C) Receiver (D) Feedback
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Choose and write the correct opHon for the followsig questions w T gy o

answer-book

A

i)

v g f -
®) fatmiem
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Importance of management is -

A) Specialisation

C) Creates a dynamic organisation

e -

) fam

A)  IFEAHITS
Planning is -

A) Continuous

C) Short-term
Frghreon & e 2 -
® =

| ¥R

Staffing aspects are -
A) Two

C) Four
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B)
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Functional differentiz.»
Size of organisativn
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Middle-term
Long-term
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Three

Five
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®) 1992 a) 2000
") [9ER z) 1993
The SEBI was given a siatuton gatus on -
A) 1992 3) 2000
C) 1988 D) 1993
oo wfirm &1 wom T R -
A)  HEAR AEFTEAT a) A
") amEm 7) A g =M
The first step of motivation process is -
A) Unsatisfied need B) Tension
C) Drives D) Reduction of tension
o faasa=t -
A) = q) =
q) #H z) =W
The elements of marketing mix are -
A) One B) Two
C) Three D) Four
Fvpirer Hom H ) witw T g -
#) T a) el yEEn
H) W 2)  HeATA
The most popular in grapevine communication is -
A) Gossip B) Single strand
C) Cluster ) Probability
vill) A S T § -
A) wE FI a) W fh s
A) e s g) i s
An example of turnover ratio is -
A) Current ratio B) Debtors turnover ratio

C) Proprictary ratio D) Quick ratio
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A) WA fafoe yromA )yt gEEA
a) z) frm
The semantic barriers of effective communication is -
A) - Technical jargon 13) Premature evaluation
) Status [J) Rules

X} ﬁﬂﬂmﬂﬂﬂm% ~
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Importance of control is -

A) Continuous process

B) Plan oriented

C) Facilitating co-ordination in action

D) Dynamic activity

XY IR & g & s e v 2 -

N} wmEteE IEE q) WA & HEEA T I99m
W) Wl pEa 3)  SERRA TN
Consumer protection is important from the consumer point of view -
A) Social responsibility B) Utilisation of resources of sociery
C)} Government intervention D) Unorganised consumers
Xii) - e Fra=m 6t smygfes e -
3) wiferha g ) Wl fireg e
®) faf e am 3)  wwdn fra=m
Modern technique of managerial contro] s -
A) Statistical report B) Break-even point analysis

C) Return on Investment D) Budgetary control
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Henry Favol's principles of management are -

A) Three B) Eleven

C) Fourteen D) Eight

ST Tam B g TR ., AT0E S i - 1]
#) AF a) =m

| @ 7)

The industrial goods may be classified into _major categorics-

A)  Three B) Four

C)y Two Dy Five

FHAN a T F UF 7E F ufa TR ufEda @ o 7 - 1]
A)  wHEE W a)  wres s Ty

H) OAAIEE T= 3)  AEEE UM W AT

The change in behaviour of employees and management toward cach other is
called -

A)  Mental revolution B)  Good industrial relations

C) Democratic management D) Stress on practical aspect

afwem & CwiE 2 wa fafa g - 1]
#) e a)  ufweromed e

|) & A 7) wetaA

Otf the job method of training 1s -

A) Coaching B)  Apprenticeship Programme

C)  Job Rotation ) Film
.. GATA T T YR G (R W) § - n
#) Fafeem a) fare

H) HTEA 7) FE=m

i1s like a post mortem of past activities -
A) staffing B) planning
C) organisation D) control
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Which nght gives consumer information about the product, they want to buy -

A)  Rightto information B) Right 10 seek redressal

C) Right to heard D) Rightto Safety

U= Uk Afee ufeman 2 s L T i 2 - [1]
#) A a) A

q) =W 7) ua

Management is a complex activity that has main dimensions-
A) Two B) Three

C) Four D) Five

At ufEm @ fgdm a2 - [1]
A)  wEm ) E

d)  E H F 7)  SEvEE HAE

The second step of motivation process is -

A)  Dnves B) Tension

C) Reduction of wension D) Satsfied needs

frarem 4 fram w3 § - [1]
H) wnMEAN R ) & FNET

|) @ A R? 2) W R?

What do the rules inform the planning -

A)  What to do? B) When to do?

C) Why to do? D) How to do?

=g TeA aran fames waem e fafmdem & e 2 - [1]
H) st Jea A) AT JE

d) EfE HEA 3)  wwriE @A

The organizational structure which required product specilisation -
A)  Formal orgamsation B)  Informal organisation

C)  Functional organisation D) Divisional organisation
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#) wehs A q)  FHEE HehoUdo
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Personal barmers of effective communication is -
A)  Organmisational policy B)  Unclarified assumptions
C) Unwillingnesstocommunication D) Premature evaluation
V) ﬁﬁmuﬁmmaﬁnmﬂ- 1]
®) HE a) fawmviE anun
@) fawed @ = 7) A AN A

The final step of planning process is -
A)  Follow up action B)  Developing premises
C) Evaluating alternative courses D) Implementing the plan
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Multiple Choice Questions: [§ to xviii

i) Feefoflm 3 o i SEe W e B (1)
) TR TR
| e g oefteR

Which of the following s an example of convenlence
A)  Toothpaste i

Cl  Jewellery
i) EEe ol Fe s o g (1)
a) TEH WY
TH} HEZ HI%
Which level managess d
All of the above
(1}

e 4] TR ey
ternal sources of recruitment incledes -
A) Pr B} Waiting list
C) Advertisment ) Employment office
i) AT O A g # el g A @ mer e ge g W
CED (1)
) AT HFa g 8 4} WIETR qEn @R gnn B

o) AT Rere v 8 %) UMW e T g e E



What is the effect on the market price of these shares of the dividend rate

decrease on shares-
A)  Market price increases
B)  Market price decreases
C)  Market price remains constant

)  Market price becomes zero

v) o s & oy 39 Prerad! o Bae o gafaen @ g fMueris

Feggall A Hanall w1 g e 8- {1)

A vw W WUl A we o) & WA W A U wHE W O

o) o aerE w0 e e W oo ghoasE e W f el

The District commission has the jurisdication of the complaints on the complaint

where the value of goods/senvices under gonsideration is-

A) In than rupees are crore B) Twa crore to five crore
C) Eleven croreto twenty crore 13) Maore than fifty crore
vi) Hiras uilsar @ gers e g
M) e e q) g o uEmE
) R Eae Feie g} i
The first step of organigation process-
A) Dutles determination B) Identification of task
C) Determination of reporting relationship D) Depanmentalization
vil) Fears & e fameer & mfvs ad 2 - [1)
M) giFges q)  wuER
| wr e g} EwrEA

Physical distribution of product not incudes -
A)  Transpor Bl  Storage
C)  Inventory control D)  Production

(1}



vifi} e wr | g (1)

M) HTEA 1) HHEY
| P g s
The essence of management is-
A} Organising. B)  Co-ordinating
€y  Controling . D)  Planning
i) ufimim g wdEE @ @l o A gl 6 aed 8- (1)

+ B & gud oft erawm
(1}

2, whose enforcement cost in comparatinely

B More
D) Mot affected

) e A g W g s ol 8- {1
) gEET q) el |) =4 Era q) AT
Which quality is not necessary for efficient leadership -

A) Initative B} Confidence  C) long hair 1) communication skill
xii) wregd o Fan ofvdiemalt s ardies Boes @) wed B 8- {1)
) Fsos 4y  HUERY

#H) e Hene z)  duftw



Conducting competition for customer |5 a which kind of marketing activity -

A} Advertising B}  Storage
Cy  Sales promation 3}  Personal selling

xiif] sopdraET @ wre afEer | mfae a8 B (1)
) e s Sl a)  gEd w afee

) amdren fen g sfren I e e I I S

The rights obtained 1o consumer not includes -

Al Right o safty B)  Righitio.

C)  Right to get consumer education 0 Right ake false allegation
sby) o o s & i :

E fied an behabibour and creativity
ol heoretical knowledge
i)
) wiEr fowd
7)) amabens o oEwE o e e

O} Maore attention on the work incharge than the institute

xvl) B & e e 2 - (1)
) Y q) = H o g} T4
There are packaging levels -
A) Four B) Thres

C) Two D} Five
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Traditional technigues of controlling include -
A) Ratio Analysis B} Retum on investment
C) Management informationsystem D) Budgetary control
xvlii] U HHA AU @ UED w1 gE B
M) WU HH 4] =/ e i
|) @e wefirdd e, s %) il e o v et
The formula do calculate debt equity ratlo is-
A) Debt/Equity B) Debt/Current liabilites
C) Total Asscis/Current Assets D) Total liabilitles#Fixed assets

(1)



